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PROPERTIES
log of zero and negative numbers is not defined. Lo i 5 b >0
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PROPERTIES
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If f(x) = Iog10 (1 + x), then what is 4f(4) + 5f(1) - log,,2 equal to ?
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If f(x) = log,, (1 + x), then what is 4f(4) + 5f(1) - log,, 2 equal to ?

A. O
B. 1
C. 2
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What is the value of log; log; . 7 z\/_?_ ?

A. 3log, 7 ﬁ\/_// NE: 7 /71% _ (?3/2)§ = —?‘3/7

B. 1—3log,7
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What is the value of log; log,

A. 3log, 7

B. 1—3log,7

C. 1 - 3log,2
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What is the value of log, 27 + logg 32 ?
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What is the value of log,27 + logg;32 ?

A. 7/2

B. 19/6
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If (0.2)* = 2 and log,,2 = 0.3010, then what is the value of x to the nearest

tenth ? 1) 3 1(100%,,? _ /) 2 lai/oof
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If (0.2)* = 2 and log,,2 = 0.3010, then what is the value of x to the nearest

tenth ?

A. -10.0
B. -0.5
C. -04

D. -0.2
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If n =(2017)!, then what is

1 1 1
+ + + .+ equalto ?
log,n logzn logyn log,p17m
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. 1 1 1
If n =(2017)!, then what is + + + .+ equalto ?
log,n logzn logyn log,p17m

A. O
B. 1
C. n/2
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If x + log,. (1 + 3¥) = xlog,: 5 + log,: 12, where x is an integer, then what is
X equal to ?

A. -3 [9(?)5 55+ (907,5 (/7‘3%) = 07/5 5"+ o 5 (/2)

B el )
K Tem svable \/ % (/%3 ) = /2

% 2= )
— /5\q(/+3%) = /2‘5 3 ‘/-3 —
1

— ¢ oS f
7 L (148%) =n @jf Yﬂy%‘

57(

B. 2




NDA 2 2024 — MATHS - LIVE CLASS
If x + log,. (1 + 3¥) = xlog,: 5 + log,: 12, where x is an integer, then what is

X equal to ?

A. -3
B. 2
C. 1
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For what value(s) of x islog,,{ 999 + yx2 —3x+3}=3 ?

A. 0,1 &)j/o (777 +J;2,3“3): Z‘i/v o’

B. 1 799 4 \/;2/31:3 ] /09
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For what value(s) of x islog;o{ 999 + V32 —3x+3}=3 ?

A. 0,1
B. 1
C. 2
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A.
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1 1 1

log, bc +1+ (logy, ac) + 1+ (log.ab) + 1
g

is equal to
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log —=(H)
What i1s the value of JoB ?

log = (H)
(a) logyp(cr) (b) logg, (&B)
ylnguﬁ(ﬂ:ﬁ“{) (d) log,g (B)
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What i1s the value of

(El_) ]-Dgn[ﬁ ('1)
(C} 1Dgc:¢|3 (HBY}

ANSWER : C

(b) log,g, (©B)
(d) log,g (8)
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If log, x=38 and logy g, 16x =4, then find the value of y.

(@) 1 (b) 2 () 3 d 5

b = U
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If log, x=38 and logy g, 16x =4, then find the value of y.

(@ 1 (b) 2 ) 3 ) 5

ANSWER : D
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If log;y x — log;yv/x =2 log, 10, then a possible value

of xis given by

@ 10 \(p/ 1/100

(c) 1/1000 (d) None of these
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If log)g x — log, Jx =2 log, 10, then a possible value
of xis given by

@ 10 (b) 1/100
(c) 1/1000 (d) None of these

ANSWER : B



NDA 2 2024

LIVE
MATHS ¢

BINARY +~
NUMBERS ‘ NAVJYOTI §
| rack




	Slide 1
	Slide 2
	Slide 3: LOGARITHMS
	Slide 4: PROPERTIES
	Slide 5: PROPERTIES
	Slide 6: If f(x) = log10 (1 + x), then what is 4f(4) + 5f(1) − log10 2 equal to ?
	Slide 7: If f(x) = log10 (1 + x), then what is 4f(4) + 5f(1) − log10 2 equal to ?
	Slide 8: What is the value of                                     ?
	Slide 9: What is the value of                                     ?
	Slide 10: What is the value of log9 27 + log8 32 ?
	Slide 11: What is the value of log9 27 + log8 32 ?
	Slide 12: If (0.2)x = 2 and log10 2 = 0.3010, then what is the value of x to the nearest tenth ? 
	Slide 13: If (0.2)x = 2 and log10 2 = 0.3010, then what is the value of x to the nearest tenth ? 
	Slide 14: If n = (2017)!, then what is                                                                equal to ?
	Slide 15: If n = (2017)!, then what is                                                                equal to ?
	Slide 16: If x + log15 (1 + 3x) = xlog15 5 + log15 12, where x is an integer, then what is x equal to ?
	Slide 17: If x + log15 (1 + 3x) = xlog15 5 + log15 12, where x is an integer, then what is x equal to ?
	Slide 18: For what value(s) of x is                                                         ?   
	Slide 19: For what value(s) of x is                                                         ?   
	Slide 20:                                                                       is equal to 
	Slide 21:                                                                       is equal to 
	Slide 22
	Slide 23
	Slide 24
	Slide 25
	Slide 26
	Slide 27
	Slide 28

